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Marx says that communism is an advanced stage of Socialism.

Under communism the state withers away.

In a communist society the workers are the source of wealth.

Socialism is a long period of reeducation.

An armed revolution would be necessary to establish communism.

Marx said that there were 2 industrialized nations where democratic institutions were so firmly entrenched that a transition to socialism might be peacefully achieved.  These two nations are the Netherlands and the United States.  

Marx says that communism can only be achieved in highly industrialized countries.  

The strange thing is that on the way to communism where there is no government you must experience socialism, which has government control over everything.  

I think that the main problem with Marx is that he does not take into account the fact that man is naturally self-interested. People do not care about the well being of everyone only themselves.  He also does not account that some will take advantage of a communist system because everything will be provided for everyone some will not contribute but still reap the benefits.  There will be a lot of free loaders because there is no incentive to work or be a success.  People will no longer take pride in what they are doing because they will not be as passionate about it.  

